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1. 0S scheduling

2. Threads

3. Intro to concurrency

Recap, True or False?
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;Teach function invocation has a corresponding stack frame.
—7311 local variables are located on the stack frames.
- {the first émction arguments are stored on registers.
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- the réturn value is stored on registers. X
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- call-preserved registers are regist
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- caller does not have to save call-c
~7;f their values are not useful

- %rax is a call-clobbered register
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¢rsp is a call-preserved register
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A scheduling problem: FZE%/ Po Lenrgh
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Question: average turnaround time:
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Question: average response time:
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thread_create (foo  NULL) ;
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